FHBRH=EMHEEENE T KRS

1. EFEE
THIHFRPAE—RITZE O
A, 3x'-5=2x B, 16x=9x°

C. x(x=7)=0 D. (x+5)(x=3)=0

2. IRFER

E.\':"'_] +10x+m=0

3 RRTH—m kG, WxfENA )
2 3

A.-m=2B.m=3 C.m=2 D. BEHE

3. LR
EloR — L IR G EX2 - x - 1=08 KB, WTFmExfofidbst EFRZ (O
A 0<a<1B. 1<a<l1. 5
C. 1. 5<a<<2D.2<<0<3

4. BB
THIRFxH— T IR TR, BHENBHZHEERGAREL O
A. x2+4=0B. 4x2—4x+1=0 C. x24£+3=0D. x242x=1=0

5. EHE -
—JC IR T FEX2-ax+ =0 PHSEERAHSE, WafERN () .
A. a=0 B. a=28a=-2 C.4=2 D."a=28}a=0

6. EH B
/INEF — R ESRB0ECKR B Z Bl — N E A=A, fRHAKABEX, NZ=AFKERE
FO.

A. 15EK2'B. 30JE k2 C. 458 %2 D. 60JE %2

7.1 B
MR 7T F1 R A% XoF LR -

X 3.24 3.253.26

ax2+bx+c-0.020.010.03

)07 3 Fx 5 R ax2+bx+e=017 7 O — MBI TE B & (O
A. x<3.24 B. 3.24<x<<3.25C. 3.25<x<<3.26 D. 3.26<<x<<3.28

8. T H
FRE R RIEMR T FE2x (x -1) =5 (x -1), KGRI ) .



